
8 m      =       ..............     mm 31,8 mm      =       ..............     m

9,3 m      =       ..............     mm 30,1 mm      =       ..............     m

6 m      =       ..............     mm 9,2 m      =       ..............     mm

2 m      =       ..............     mm 63,55 mm      =       ..............     m

57,7 mm      =       ..............     m 7 mm      =       ..............     m

4 m      =       ..............     mm 55,31 mm      =       ..............     m

5 m      =       ..............     mm 56 mm      =       ..............     m

17,6 m      =       ..............     mm 86,9 m      =       ..............     mm

36,5 mm      =       ..............     m 8 m      =       ..............     mm

2,7 m      =       ..............     mm 9,8 m      =       ..............     mm

2 m      =       ..............     mm 87,78 mm      =       ..............     m

0 mm      =       ..............     m 0,28 mm      =       ..............     m

83,1 m      =       ..............     mm 46,3 m      =       ..............     mm

16 mm      =       ..............     m 6 m      =       ..............     mm

9 mm      =       ..............     m 5,7 m      =       ..............     mm



8 m      =     8000 mm 31,8 mm      =     0,0318 m

9,3 m      =     9300 mm 30,1 mm      =     0,0301 m

6 m      =     6000 mm 9,2 m      =     9200 mm

2 m      =     2000 mm 63,55 mm      =     0,06355 m

57,7 mm      =     0,0577 m 7 mm      =     0,007 m

4 m      =     4000 mm 55,31 mm      =     0,05531 m

5 m      =     5000 mm 56 mm      =     0,056 m

17,6 m      =     17600 mm 86,9 m      =     86900 mm

36,5 mm      =     0,0365 m 8 m      =     8000 mm

2,7 m      =     2700 mm 9,8 m      =     9800 mm

2 m      =     2000 mm 87,78 mm      =     0,08778 m

0 mm      =     0 m 0,28 mm      =     0,00028 m

83,1 m      =     83100 mm 46,3 m      =     46300 mm

16 mm      =     0,016 m 6 m      =     6000 mm

9 mm      =     0,009 m 5,7 m      =     5700 mm


